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QUESTION 1

Which human workflow service is used to get the list of outcomes defined for a task? 

A. IRuntimeConfigService 

B. ITaskQueryService 

C. ITaskService 

D. ITaskMetadataService 

Correct Answer: B 

Explanation: Query the list of tasks using ITaskQueryService. 

Reference: http://docs.oracle.com/cd/E15586_01/integration.1111/e10224/bp_worklistcust.htm 

 

QUESTION 2

Which three attributes are unique to adaptive case management-based processes as compared to traditional BPMN-
based processes? (Choose three.) 

A. The sequence of execution of activities is determined by process participants at run time. 

B. They are routine, well-defined, structured processes. 

C. New stakeholders, not just task participants, may be added at run time. 

D. They are exclusively event-driven. 

E. They involve human-centric processing. 

Correct Answer: ACD 

 

 

QUESTION 3

Which three actions are available when using business rules for a case? (Choose three.) 

A. Activate activities. 

B. Set an activity\\'s relevance. 

C. Change a milestone deadline. 

D. Change a required activity to an optional activity. 

E. Modify case data. 
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Correct Answer: CDE 

 

 

QUESTION 4

Which two statements are accurate in describing features of Business Process Workspace? (Choose two.) 

A. To see tasks containing a particular word in the task title, you need to create a custom view. 

B. The definition and data for a new view can be shared with a colleague. 

C. A custom view needs to be created to enable the delegation of a task to another user. 

D. In a task view, the task list can be sorted based upon any visible column heading. 

Correct Answer: BC 

 

 

QUESTION 5

Which two statements accurately describe how Oracle Web Services Manager works? (Choose two.) 

A. On the client side, the agent coordinates a pipeline of policy interceptors that apply policy assertions to the request in
a standardized, predetermined order. 

B. On the service side, policy assertions are processed in reverse order of the client side before the request is delivered
to the service. 

C. On the client side, the policy manager coordinates a pipeline of agents that apply policy assertions to the request in
the order specified by the developer. 

D. On the service side, policy assertions are processed in the same order as on the client side before the request is
delivered to the service. 

Correct Answer: AB 
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